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arA=g fad&er (General Instruction) :-

@t gea srfaardf &1 (It is mandatory to answer all the questions.)

gos7l #r Hel &I 40 &1 (The total number of question is 40)

g% o7 & falv 1 I+ [ReRT &1 (Each question carries 1 mark.)

9% 597 & aR RFey Ruav &, 375 & ve agdl f@deq #1737 FHAT/I (Each question is provided with 4 options,

Choose the correct option.)
o Toid IV & [T FiE I g 12 GG (There will be no negative marking for any wrong answer.)

faférse fader - @vs 3 3rear ‘@ # & 5 v @vs & @3t el 3w S |
Special Instruction - Answer all the questions of either Part ‘A’ or Part ‘B’.

HUS 3 (SIGHT & dcd)
Part A (Elements of Business)

1. T § (Business is)-
() Tl (Art) (b) fa=1TeT (Science)
(c) @xT (Both) (d) 3737 & 15 8T (None of these)

2. ST & 3fdd1d (Business includes)-
(a) ATIT I FHAET fohaTV AT S (All Human Activities)
(b) ATAT T FFEEA 371w fohare 3T & (All Human Economic Activities)
(c) AT T THAET 311 fpamd 3melt & (All Human Non-economic Activities)




(d) =TT & IS oTeT (None of these)
3. Ao ¢t & & foras fameia $7usSRT &1 STe-# §31T 2 (In which of the following countries departmental

stores originated)

() W14 (France) (b) 90105 (England)
(c) 3TART (America) (d) ST9TeT (Japan)
4. ST & &89 H AR H FaTTereh HEAT & (In the business field the maximum number in India is of)-
(a) TAHTAT3T T (Manufacturers) (c) PeahT SATATRAT T (Retailers)
(b) &Y ITATRAT T (Wholesalers) (d) 3737 & 1S 78T (None of these)
5. GEG3TT & TICROT o ATCTH § HEIEY & TJehR &1 Fohdl ¢ - (Types of mediators according to distribution of goods
can be)-
(a) 2 (b) 3
()5 (d)8
6. TUFH SYHIFAT TghI Terg TUTfa §3—1T - (First consumer co-operative store was established in) -
(2) 1947 (b) 1857
(c) 1844 (d) 1944

7. YoId foreer 7 fohdarT 3eel@ gaT § ? (Which one is mentioned in Railway Bilty ?)
(a) HToT SASTeT ATl & AT T (Name of sender of goods)
(b) #TeT T faaRoT Ug dier 311fe T (Description and weight of goods)
(C) ITeddeT T o ATH T (Name of destination station)
(d) 373 & T &7 (All of these)

8. IO TS o UF & 3t H YTcd §lal aTell U7 Shgellell o- (Letter received in reply to the enquiry letter is called)-

(a) T 99 Quiotation letter) (b) 3TTC;2T I (Order Letter)

(c) FI=IT 9 (Information letter) (d) =gmaTies 97 (Business Letter)
9. TarATI=T T HTA 3e¢ 2T FATE ? (What is the main objective of Advertisement ?)

(a) TashT & YT (Increase in sales) (b) fashaT3it sl |G =T (Supporting Sellers)

(c) ITeT # e T (Increase in Profit) (d) 3137 & T (All of these)

10. U ST 3CTe X0 ¢ (Super Bazars are examples of) -

(a) AN 9USRY & (Departmental Stores) (b) ST GaRT SITIR & (Mail Order Business)



() qgé{saeh gehlail & (Multiples Shops) (d) PeT gt & (Retail Stores)
11. Ae=aifera & faATansit Pl TEUTT HilaT-AT § 2 (Which of the following is the manufacturer’s retail

Establishment ?)

(a) TN USR (Departmental Store) (b) qg&{sqeh gepIeT (Multiple Shop)

(c) G ST (Super Bazar) (d) 3137 & 1S 78T (None of these)
12. 2ieh SATIIY & ToIT 3Ta2T% d<d &- (Essential element for wholesaler is) -

(@) axg 1 tI‘:J‘r 3JTeT (Complete knowledge of goods)

(b) Ta=maet 1 fafergt s AT (Knowledge of Advertisement methods )

(c) 7T SR gomferat &1 3T (Knowledge of new business methods)

(d) 373 T T (All of these)
13. qg&{sqch geplail IR &3 T et 8Ycll & (The quality of goods on multiple shops is) -

(a) G (Inferior) (b) sfeaT (Superior)

(c) IrHTT (Normal) (d) 3137 & 15 AgT (None of these)
14. 3778 AT H 3UR dd= arell ¢ (More credit sales are done by)—

(a) ek ITINT (Wholesaler) (b) P STTIRY (Retailer)

(c) 3c91eeh (Producer) (d) 3THFAT (Consumer)

15. 2Teh SATIN & ToIT il T HTaRThT & (Capital needed for wholesale trade is ) —
() AET AT H (In Small Amount) (b) ATHATT AT H (In Nominal Amount)
(c) S8 ATAT H (In Large Amount) (d) Sgd &3 AT H (In Extra large Amount)
16. foi5=T & & Fia-ar IR-rAT I ST § (Which of the following is non-insurable risk)?
() AT AT AT (Measurable risks)
(b) FTeT Y ST H 3aR-TgIa (Fluctuations in the price of goods)
(c) AT AT (Insurable interest)
(d) 3TeTATT I SATEHA (Risks which can be estimates)
17. Toe=T & Sler-Y 31T forar camar fr agraes foar s1gt § 2 (Which is not the auxiliaries to trade?)
() IR@gsT 31 FFIWOT (Transport and communication) (b) ST (Insurance)
(c) Sfhar 3R fa= (Banking) (d) 2Teh TR (Wholesale trade)
18. Tohel Yo & STTAR # g@ it # 32T &t & TlT a3l o1 3Tt fovam Sirar & 2 (Which trade refers to



import of goods for the purpose of export)?

(a)f AT SATIR (Export trade) (b) 3T SATIR (Import trade)
(c) 9=T: foraTet (Entrepot) (d) B SATIR (Domestic trade)
19. @I @i § (Mining is a/an):
(a) STeAfeTen 3GTMIT (Genetic industry) (b) TeTsehYeR 3T (Extractive industry)
(c) TIeATcHR 3?\31’DT (Construction industry) (d) ﬁmﬁﬂﬂwm (Manufacturing industry)

20. TSHATHIOT 36T A (In assembly industry):
() TRIR ATl T ScuTes el o eTT Hel Ferd ol faffieet qerf 7 JUeshiehioT foham STTdm § (The basic raw

material is broken into different parts to produce finished products)
(b) & T &r & 317k ueTat F AR Teh AAT Y&Tey ST ST & (Two or more materials are mixed to

manufacture some new product)

(c) IR 3cUTeT ot FATRR Ueh AT 3cuTe &t fAATOT fhar SITar & (The Raw materials processed through
various stages of production and then finished goods are manufactured)

(d) e HTel ST ScuTee o EoR1 T s TThaT H ISR ST ¢ 3R T TIR ATl T [JATOTEIATE (The

various finished products are combined to produce a new finished product)

21. e & & TR STGHTT T 362 =T8T ehgl I FehdT ? (Which cannot be called the objective of business)?
(a) @A (Innovation) (b) fafS=NaT (Investment)
(c) I8 31T =T (Earning profit) (d) IImgeh HoteT (Creation of customers)
22. ThaH Tad 3T Qe Fr dca [Afga gar & 2 (Which involves the most risk)?
(a) ST (Business) (b) eIaHTT (Profession)
(c) ISR (Employment) (d) 378 & 1S =1eT (None of these)
23. fo¥o=T H leT-A1 Ja1 3¢AN9T AT & (Which of the following is not included in service industry)?
(a) TTATATA (Transport) (b) SfaT (Banking)
(c) TRIdTelT (Cattle rearing) (d) Ta=1T9T (Advertising)

24. X g=8 Y foha w71 @ Gl oIt oiieT e &9 & gt & T s ot 3R el & arisifaes yree
T & (The occupation in which people work for others and get remunerated in return is known as):
() STIET (Business) (b) TSR (Employment)
(c) 9= (Profession) (d) 3137 & 15 78T (None of these)
25. eehy SATIRY Sl g1l 8- (Retailer is a chain between ) -



() 3cUTGe YT Uleh SITIIT (Producer & wholesaler)  (b) 3cdTgeh oIT 398iiardT (Producer & Consumer)
(c) YR ST 3R 3Tt (Wholesaler & consumer) (d) 3737 & 1S 78T (None of these)
26. ¥e1d foedl yoi & (Railway bilty is a instrument) -

(a) quT fafer#ar |rer (Completely Negotiable) (b) Tafere =T ATET (Negotiable)
(c) 3rcy-fafaaT arear (Semi Negotiable) (d) 37faf# T @& (Non Negotiable)
27. 3TICRI-Y WTCe glel WX Tashall 38 TGTAT & (After receiving order , seller makes entry in )-
(a) IF-9TTCT & (Incoming letter book) (b) 3TTERI-TF Yo J&Tsh (Order receiving book)
(c) I3-9T¥ YR&cThT (Dispatch book) (d) TR hr GIETRT (Peon book)

28. “gWR SR &3 fAIfNiehed 7T Ta2dd & St ‘ST &F 3 ATl of ST o 3MUR TR o Hedl H aEI3iT 1
AT P 6 1" TG HUT [hTHT & 2 (“Super markets are large departmental and self serviced which sells goods

At low cost on the basis of ‘Pay and Take away’” , who said this ?)

(a) Y. gTef (Prof Harley) (b) Y. Std=& (Prof Jevens)
(c) Y. S=g (Prof Benham) (d) Y. ife=g (Prof Robins)
29. Peehl SATIRY &1 HEIT H14 § (Main function of retailer is )-
(a) faspT q@@mﬂ (Sales forecasting) (b) SITSTY &7 31T (Knowledge of market)
(c) TE3HT & T T JIAT (Selection of goods) (d) 3T & T (All of these)

30. GO ETSTR T FQ1ffcd g & (Proprietorship of Super Market is ) -
(a) TSIy safFaat & gt # (in hands of Personnel) (b) TXPR & &Y A (In hand of Government)
(c) 3T3raT3it & &1 & (in hands of consumer) (d) HETa3t F & & (in hand of producer)

31. STHIFAT HehIT HUSK & oITH &- (Benefits of consumer co-operative stores are) -

(a) 3TEBT TohEA hr T FEIV e ST (Good quality goods at reasonable rate)
(b) FEITYT T FATTCT (Omission of mediators)
(c) <ITeT T I1fee (Profit earning)
(d) 3731 & @Y (Al of these)
32. foRUraT s geufa &1 HAfd ®9 8- (Modified form of Hire Purchase system is ) -

(a) ToRE $J3TcTToT TerfeY (Installment Payment System) (b) qg{-i{squ gehTal (Multiple Shops)
(C) 3THNFAT TEhRT HUSK (consumer co-operative store) (d) I SR (Supermarket)



33. "Aigs it #ifa cIaarT off G¢a AR TT T § 1" T8 FUT fhad Fafd & ("Business like weather is with us
everyday." Who said this out of the following)-

(a) g7 (Haney) (b) AT (Marshal)
(c) STearT (Batliboi) (d) eIk (Wheeler)
34. SATaATTAS SITEH % HROT & (Causes of business risk are) -
() AT (Human) (b) HIfAF (Physical)
(c) repfdeh (Natural) (d) & 3 (All these)
35. W ITI &1 & (The most wide scope is)-
() SITIR T (Of Trade) (b) ATTOTST T (Of Commerce)
(c) 31T T (Of Industry) (d) SIaHTT T (Of Business)

36. VA 3 I3 ohl 4T gl & Sif GAR AT T {aT FefeT ST 82 (The industries which provide support Services

to other industries are known as ?):

(a) 9rafAe 39T (Primary industries) (b) &fadrIer 3¢ (Secondary industries)
(c) aTfoIfSTas 3¢hTeT (Commercial industries) (d) I geh 3€N9T (Tertiary industries)

37. AT & Fia-4T fohaT saaaTT & 31edeTd 31T & 2 (Which activity comes under the category of business?)
(a) TRTeld =T (Practising law) (b) TE3T T 3cdTeeT =T (Producing goods)
(c) AT1IT ST SelTsT AT (Curing the patient) (d) 9T&RATAT F TGIAT (Teaching in a school)

38. fora g & 3nfes foram 7 3maR |fgdr g1t & 2 (Which type of economic activity requires code of conduct)

(a)cTadTd (Business) (b) 92T (Profession)
(c) USTITR (Employment) (d) 378 & 1S =1eT (None of these)
39. SYST 31T fhd TR &1 36191 § (Textile industry is):
(a) TaReINUTcHS (Processing industry) (b) 9fshaTeas (Synthetic industry)
() THAHIOT (Assembly industry) (d) T (Analytical industry)
40. TG, e+ 3TTE § FFIT ol §T1eY & SITEH T hgd & (Loss to property due to flood, fire etc., is known as):
(2) ST FFa=¢iT ST (Responsibility related risk) (b) SATFAITT ST (Personal risk)

(c) TFafT STEFH (Money risk) (d) 3T T FIg Aer (None of these)



QUs § (FR1ETdT dUT JWIRA & dcd)
Part B (Elements of Book - Keeping and Accountancy )

1. 3TTH T ST T ATIAT 6 FHI oh TR W ol @iche] o HET TR & (From the point of view of timing
of recognition of revenue and costs, following is the basis of accounting):
(a) sTehg ITYR (Cash basis) (b) 3YTSTeT 3TUR (Accrual basis)

(c) ‘a' TF “b' 1T (Both “a’ and b') (d) 313 & P15 Agr (None of these)
2. 31 femFaR, 2018 FY 372tes oI, o AlgaT for. & vas 72fieT T 1,75,000 & @A Ig & (On 31st December, 2018 Ashok

Ltd. purchased a machine from Mohan Ltd. for X 1,75,000. This is):
(a) Teh ofed-oT(A transaction) (b) TS TE=T (An event)

(c) oisT-&eT T T G (a transaction as well as an event) (d) 3137 & 15 AgT (None of these)
3. [T & & i or@iehet T HYAT A& g2 (Which of the following is not the limitation of accounting ?)

(a) SIeToiT HTHST H FHATOT (Evidence in legal matters)

(b) STCLU‘rW (Incomplete information)

(C) orETeheT TRFURT3T UX TR (Based on accounting conventions )

(d) FOTcH {-I‘\T-Io-lldﬁ T 3THATT (Lack of qualitative information)
4. oIgTeheT HHHIOT IS BIAT & : (Accounting Equation is satisfied by:)
(a) YT = HFTIAT + SIATT (Capital = Assets + Liabilities)
(b) GIATYE = YT - FFATT (Liabilities = Capital - Assets)
(c) YT = er FFYTIAT (Capital = Net Assets)
(d) YT = HFaferT + A8 (Capital = Assets + Profit)
5. SIEXT olET YuTrell &7 37TfasehR fohdet fham? (Who invented the double entry system ?)

(a) AT (Marshall) (b) el fO=E=T (Karl Pearson)

(c) ST, R, STeenad (J.R. Batliboi) (d) ofshre ITATelT (Lucas Pacioli)
6. WWWWW?’N AT (Book-keeping was firstly introduced in) -

() 3913 (England) (b) 3TATERT (America)

(c) #RE (India) (d) 3 (Italy)
7. STFIIT Wl o ToaT H 737 § (The rule in respect of Personal A/c is) :

(a) UTeT ATel ST ATH T, Sot dTel I STHT B (Debit the receiver, credit the giver)



(b) T g1far T @t o e T 3R Feft 31T T Tt Y STAT A (Debit all expenses and losses, credit
all incomes and gains)

(c) 3T=Y ATelT TEI3T ohY ATH T 3R ST ATely TEI3TT I STHT ST (Debit what comes and credit what goes

out)
(d) =731 & IS =T8T (None of these)
8. oI@idhet UThaT § (Accounting process is) :
(a) eI@TeheT Tsh (Accounting cycle) (b) er@TeheT GUTT (Accounting mirror)
(c) Sr@TeheT A3 (Accounting cash) (d) 3737 & 1S 78T (None of these)
9. HTehfcieh eI TFIT W T 3eTe0T & (Example of Natural Personal Account is) :
(a) & T @TAT (Bank Account) (b) 3ATEIOT @WrdT (Drawings Account)
(c) 376 dcteT WTAT (Outstanding Salary Account) (d) ToRTT @reT (Rent Account)

10. f&T & & T GEcehl H fohaehl AT A€t foham SITam (Which of the following will not be recorded in
the books of account):

(a) AT T fasha (Sale of Goods) (b) acteT T dTcTsT (Payment of Salary)
(c) FHHTRT T TAT (Salary of Staff) (d) ATer Y qfct & forw 3m¢er &= (Order for supply of Goods)

(a) Sl=IgR (Creditor) (b) S=T&R (Debtor)

(c) ATES (Customer) (d) 378 T 1S =1eT (None of these)
12. TR o $19TclTeT & Goft H BT &1 (Rent paid will................ capital.)

@) acaj%r (Increase) (b) T (Decrease)

(c) 1S T3 A& (No any effect) (d) 3137 & 15 78T (None of these)
13. ol@Tehe] THIHIOT --------- IR 3TUTRA & (Accounting equations is based on------- ):

(@) WWWW (Going concern concept)

(b) &f3-9&fr 3YgEROT (Dual aspect. concept)
(C) HaT ATYeT ITTERVMT (Money measurement concept)
(d) T 7T (Al of these)
14. TFT A SlT-#Y 31T FFfT § 2 (Which is an Intangible Asset in the following?) :



() S3HTH (Trademark) (b) T=fer (Goodwill)
(c) 9eueH (Patents) (d) T T (All of these)

15. AT & & SleT-a1 caraiRes eiel-¢oT A8l & ? (Which of the following is not a business transaction ?)
(a) TR & ToIT weitaR WIET (Bought furniture for business)
(b) FHTATRAT T dcd=T f&aT (Paid salaries to employees)
(c) SATFIT o WA & I o Teho! I BIA T (Paid son's school fees from personal bank account)
(d) 7 o Tl T BIF =ITIR o U7 A & (Paid son's school fees from business money)

16. fAaAfaf@a 7 sieT-ar ez 7T §2 (Which of the following is not an expense?)

() adeT (Salaries) (b) foRTaT (Rent)

(c) s (Purchases) (d) 38T (Drawings)
17. AT AT @I o $1E & (Types of personal accounts are):

(a) TeT (Three) (b) IR (Four)

(c) &: (Six) (d) & (Two)

18. T #M=T X 6,60,000 H TIIET TSI 1,20,000 =1k & a1 3R AW & forw 60 et arerr vk faaa TR forar
I1T| TUTAT FFUAAT 9 FAT GHTG IS (An asset was purchased for T 6,60,000. Cash was paid % 1,20,000 and for

the balance a bill was accepted for 60 days. What will be the effect on fixed assets ?)

(2)% 1,20,000 (b)% 5,40,000
(c)% 6,60,000 (d) Nil
19. {537 & T 315 & (Which in the following Entity is) :
(a) ERT (Hero) (b) gfsT (Honda)
(c) *F==RT (TISCO) (d) T T3 (All of these)
20. 39 T oI &9 & (The short form of debit is)
(a) Db. (b) Dt.
(c)Dr. (d) Dhbt.
21. "oleTERT T ATl it & ToIT" fehd THTOTSh shT T1T g1l 82 (Which voucher is use for payment to creditors?)
(a) STHAT 9ATUTR (Credit voucher) (b) ST 9t & (Pay-in-slip)
(c) =T8T YHTUTE (Debit voucher) (d) 3T T HIS Aer (None of these)

22. 37ed ddel g (Outstanding salary is a):
(a) arEdTae Q1T (Real account) (b) STTFAITT @I (Personal account)



(c) gfafa T cafFaera @rar (Representative personal account)  (d) sITEATT @TAT (Nominal account)
23. o7 i TARIT FFITT & (Which of the following is a fixed asset) :
(a) 79T (Building) (b) T<Teh (Stock)
(c) &eTGR (Debtors) (d) qdeT & (Prepaid Expense)
24, “TITST T 31T o Y 3R T Toe1a g1faiai o forw graearer i 39 +A1fa &7 HROT § (The policy “Anticipate no

profit and provide for all possible losses" arises due to):

(a) FHTACT ST GIFIRT (Convention of Consistency)  (b) ®fearfedr r gFmT (Convention of Conservatism)

(c) 9e&=TeT T 9IFIRT (Convention of Disclosure) (d) 313 & P15 AgT (None of these)
25. HTHTIT: 31TITH FI oI @l 38 TAY T SITAT & ST (Revenue is generally recognised when):

(a) 3cHreeT Cj‘\U‘r gIdT & (Production is completed)

(b) ST TEJ =T 3TTS2T 9Ted 81T & (Order for goods is received)

(c) STl T T GYeal &1 STl & (Goods are delivered)

(d) ST T&J T FHe T UTed gIaT § (Cash is received)
26. 3TTqfcTerdT shY ATl ATTH HId HHY hieT-HT Ta0T AN f3HAT SATAT § 2 (Which note is prepare on the time of

goods are return to the supplier ?)

(a) AATHYT (Debit Note) (b) STHTIH (Credit Note)

(c) =Tehg, THIG (Cash Receipt) (d) 3137 & IS 8T (None of these)
27. SfA9af ITTURUT H (As per dual aspect concept in)

(a) FYTT = Gail - SR (Assets = Capital - Liabilities)

(b) FFIT = & dcd - Yair (Assets = Liabilities - Capital)

(c) FYfe = gTR&ica + Yoit (Assets = Liabilities + Capital)

(d) it = HF9feT + ST dcd (Capital = Assets + Liabilities)
28. AT Fr FITE IR FAT & (A debit note is prepared by) :

(a) ShdT (Buyer) (b) Tk (Seller)
(c) IS (Customer) (d) S (Bank)
29. T T oI@T =181 [ohdT 1T foTad 31a T 7 o187 9 3137 Sy fovd RAigHmed & 3tag el sl =12 (Depreciation

was not recorded, hence, profit for the period was increased, say, which convention is avoided ?)

(a) oI i@a\ﬂlra (Cost Convention)



(b) W@Eﬁﬂﬁr (Convention of Consistency)
(c) Yot Jehe &t & fAgeTe (Convention of full disclosure)
(d) Ffearer ﬁ'c:%n—cr\ =d (Conservative Convention)

30. aﬁw oET YUTTell & W TS AT AP oevnenn.n ggel AT &9 ?I?f %I (There are............. aspects or forms of every
transaction according to double entry system.)
(a) 4 (b)6
(c)8 (d) 2

31. “TITIR o fohdl cTagR T THTE GER 3= U&7 I $1 IS 8", Ig U+ fohdt Nl H Tse fohar aar g 2

(“If a firm owns something, then it also owes something to others.” This statement is explained by which concept)

(a) G181 o1@T (Double Entry) (b) g oI (Single Entry)

(c) TET @1 (Double Alc) (d) 3737 & 1S 78T (None of these)
32. ST g @Wrar & (Trade marks account is a):

() STTFTIT WA (Personal account) (b) aTEATdH @TAT (Real account)

(c) SATHHATT @raT (Nominal account) (d) 3137 & 15 AgT (None of these)

33. 31TE2T oI@ishel WOTTeI T faIYAT & (The characteristics of ideal accounting system is) :

(a) GIeIdr (Simplicity) (b) 3ATT=I (Scientific)
(c) AdeT4T (Economic) (d) ST T T3 (All of these)
34. TAFATITEd H & hleT HeT Tol@ FET & (Which of the following is not a source document):
(a) o7 Ta fore (Invoice and Bill) (b) J1hs &EY (Cash Book)
(c) ITH 9T (Debit Note) (d) #Tehe IHTG (Cash Receipt)
35 e, Teh ATgeh ohl ST ATl & ST dg ATl I FIATG | (oo is sent to a customer when he returns goods):
(a) shfSc AT (Credit Note) (b) 3fsie Ale (Debit Note)
(c) ST (Invoice) (d) 3T T HIS Aer (None of these)
36 . 31l <IT (Outstanding expenses) :
(a) YT # AT ST & (Reduces capital) (b) arfdcat & gef&r e & (Increase liabilities)
(c) It & gef&r T g (Increase capital) (d) TRcal & T T § (Decrease liabilities)

37. §o TG @rar & (Bank Overdraft Account is):
(a) TTFAITT @IAT (Personal Alc) (b) aTEATaH @I (Real Alc)



(c) ATHATT @raT (Nominal A/c) (d) gfafafer cafeaera @rar (Representative Personal Alc)

38. gEATelel T CEGICrs @rquaﬁwfﬂagéeﬁ? (When the first book on Book-keeping and

Accountancy was published ?):

(a) 1494 (b) 1496
(c) 1498 (d) 1594
39. faeiT @it ........... #r em@r g1 (Financial Accounting is a branch of......... ):-
(a) ITTOTT (Mathematics) (b) fa=11eT (Science)
(c) Sr@TeheT (Accounting) (d) 3137 & 1S 78T (None of these)
40. EIfA Teb................ FFafT &1 (Goodwill isan .................... Asset.):-
(a) 3T (Intangible) (b) T (Tangible)

(c) (a) 3R (b) a1t (Both (a) and (b)) (d) =T (a) 31X a7 (b) (Neither (a) nor (b) --



